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Section : Mental Ability1

Q.1

Ans

In the following question, select the related letter/word/number from the given alternatives.

CG:El:_____
KKK
o 2. F:cK
75 3.1J:KH

X 4.6J:LM

Question ID : 54592721017

Q.2 In a certain code language, if MENTION = 49 and NEUROTIC = 64, then MARVELLOUS = ?

Ans X1 81
X 2121
o 3.100
75 4.88
Question ID : 54592721018
Q.3 In the question below, there are three statements followed by three conclusions. You have

Ans

to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion logically follow(s) from the

given statements.

Statements:

I. All tires are wires.
1I. All wires are tents.
11l. All tents are cans.

Conclusions:
|. Some cans are wires.

Il. Some tents are tires.
1ll. Some cans are tires.

x 1. only conclusion Il and Il follow.
« 2. All conclusions I, Il and 1l follow.
x 3. only conclusion I and Il follow.

x 4. only conclusion | and Il follow.

Question ID : 54592721026
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Q.4 Raghav ranks eighth from the top and 31st from the bottom. How many students are there
in the class?

Ans X" 140
W 238
X 3.39
75 4.43

Question ID : 54592721023

Q.5 Eight students L, B, S, D, M, F, O and H are going for a car racing. There are only two cars
and following are the conditions:

(i) Four students can sit in one car.

(ii) L and D sit in a same car but not with H.

(iiif) B and S cannot sit in the same car in which D is sitting.

(iv) F will sit in the car along with L and M but certainly not with O.

If H and O are sitting in the same car, who are other two students sitting in the same car?
Ans X' 1.MandB

o 2.Bands

/X 3.Lands
/X 4.FandB

Question ID : 54592721024

Q.6 Pointing to a boy Neha said, ‘He is the son of my grandfather’s only child. How is she related
to that boy?

Ans X" 1 Mother
X 2. Cannot be determined
x 3. Aunt
J 4. Sister

Question ID : 54592721025

Q.7 If all the Letters of the word ‘SEAT’ are arranged according to Dictionary then which word
will come Third from the right end?

Ans JIE
K27
X3S
X 4A

Question ID : 54592721011

Q.8 There are five friends -S, K, M, A and R. S is shorter than K but taller than R. M is the tallest.
A is a little shorter than K and little taller than S. Who has two persons taller and two
persons shorter than him?

Ans o 1 A
K 2.k
X 3R
X 4as
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l Question ID : 54592721022

Q.9 For the Assertion (A) and Reason (R) given below, choose the correct alternative from the
following:

Assertion (A): Akbar is also known as Jahangir.
Reason (R): Akbar was a strict administrator of Islamic law.

Ans ( 1. Both (A) and (R) are false
x 2. Both (A) and (R) are true and (R) is the correct explanation of (A)
X 3. Both (A) and (R) are true, but (R) is not the correct explanation Of (A)

x 4. (A) is true, but (R) is false

Question ID : 54592721027

Q.10 Find the odd one out from the given alternatives.
Ans X" 1. Sofa set

« 2. Carpet
75 3.Bench
X 4. stool

Question ID : 54592721012

Q.11 At an Ice cream parlour, six ice creams are arranged in a circular order on the table.
Butterscotch is opposite to Kulfi, there is only one ice cream between Chocolate flavor and
Strawberry flavor ice cream. Vanilla is to the immediate right of Kulfi. Mango flavor is also
one of the ice creams. Which ice cream is placed opposite to Vanilla?

Ans X" 1. Chocolate

« 2. Either chocolate or strawberry

X 3. Vanilla

x 4. Strawberry

Question ID : 54592721021

Q.12 From the given responses, find the missing letter in the series:

AD, BH, CL, DR, ?

Ans X1 EU
X 2.MN
75 3.KL
o 4 ET

Question ID : 54592721009

Q.13 For the following groups of letters given in Column I, the codes are given in Column II.
Answer the question by finding the codes for the groups from the given columns.

Column 1 Column IT
(A) to provide order time | pa ka mo ni
(B) next time to her zanipatu

(C) place order to provide | ok mo pa ka
(D) once at next order sa ri za mo




www.HaryanaJobs.in

What is the code for ‘her’ and ‘provide’?
Ans J 1.tuand ka

x 2.niand tu
x 3.saand za

x 4. ok and pa

Question ID : 54592721020

Q.14 Find out the next term.

G9K, M15Q, S21W, ?

Ans  of 1 viC
X 2.A6C
/X 3.22B
/X 4. W5E

Question ID : 54592721010

Q.15 If CCTV is called Television, Television is called Radio, Radio is called Pen and Pen is called
Fan, then which is used to write?

Ans X 1 pen
o 2 Fan
/X 3.cctv
/5 4. Radio

Question ID : 54592721019

Q.16 In the following question given below, there is an incomplete series as shown by question
mark. This term is given as one of the alternatives. Mark the correct alternative.

16, 22, 34, 58,2

Ans 5" 1 08
75 2.108
o 3106
X 4172

Question ID : 54592721028

Q.17 In each of the following questions, certain pairs of words are given, out of which the words
in all pairs except one, bear a certain common relationship. Choose the pair in which the
words are differently related.

Ans x 1. Actor : Choreography
x 2. Actor : Singing
J 3. Farmer : Farming

x 4. Dancer : Direction

Question ID : 54592721013

Q.18 Choose the odd one from the given alternatives.
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Ans X' 1.GN:GZ
/< 2.D1:DY
of 3. B0 EY
/X 4.CF:czZ

Question ID : 54592721014

Q.19 In the following question, select the related letter/word/number from the given alternatives.

PAINTING : ARTIST :: Cook:
Ans X 1. Singer

x 2. Novel
( 3. Meal
/5 4. Music

Question ID : 54592721015

Q.20 In the following question, select the related letter/word/number from the given alternatives.

ZAB:DEF: _____:NOP

Ans X" 1 JHI
75 2. GHI
o 3. HU
75 4.GIH

Question ID : 54592721016

Section : Mental Ability2

Q.1 Choose an appropriate figure from the four numbered figures for the place of the questions

mark (?).

Problem figure

22 X 62| 2
(A) (8) (€) (0)

Ans

v ﬁg
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X Qg
X -f}s’g

Question ID : 54592721042

Q.2 Choose the odd numeral pair/group in each of the following question :
Ans X" 1.1(9)2

/X 2.5(854)9

W 344427

X 4.3(243)6

Question ID : 54592721032

Q.3 In the question given below, there is a statement followed by two conclusions. You have to
take the given statement to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion logically follow(s) from the
given statements.

Statement:
T=0=I=L=D
Conclusions:

IL. D=<T
II.D=T

Ans x 1. Only conclusion Il follow
X 2. Only conclusion | follow
J 3. Either Conclusion | or Il follow

x 4. Neither conclusion | nor Il follow

Question ID : 54592721036

Q.4 The second figure in the first unit of the problem figures bears a certain relationship to the
first figure. Select that figure from the set of answer figures which would come in the place
of question mark (?) and bear the same relation.

Problem Figures
1 4 3 4

Ans

X2 ’:7//,
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><4-/'/{,

Question ID : 54592721041

Q.5 Find the wrong term in the given series:

2,3,6,10,18,27

Ans o 1 10
X 218
X 3.6
75 42

Question ID : 54592721029

Q.6 In following question, a set of two figures forming the problem figure and four answer
figures marked as (a), (b), (c) and (d) are given. Select a answer figure which possess the
same characteristic.

Problem figures

N

Ans

8
8]

R

2

Question ID : 54592721040

Q.7 A piece of paper is folded in the manner shown in the question figure(s). Select the figure
out of the unfolded pattern after the punches (cut).
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Question Figure:

Z

Y

H e
" b

Ans

Question ID : 54592721045

Q.8 Find the missing term?

[=] [#]

il [
Ans X127

W 228

75 3.32

/X 4.15

Question ID : 54592721034

Q.9 If4x24=6,2x8=4,1x3 =3, then find the value of 7 x 21?

Ans X" 142
23
/X 3.63
K a2

Question ID : 54592721037

Q.10 Choose the correct water image from the given alternatives.
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Problem Figures

oD

Ans

Ko

R
X 2 9
C

) 1
RS,

Question ID : 54592721044

Q.11 A cube of 25 cm side is divided into 125 smaller cubes of equal volume. Find the side of
smaller cubes.

Ans X' 1 3cm
X 2.6cm
X 3.2cm
o 4 5cm

Question ID : 54592721048

Q.12 In the following question an unfolded dice is given. From the given alternatives which of the
following will be opposite to 5?

Ans X 1.U
K 2.k
X 3T
v N

Question ID : 54592721047

Q.13 If '+ means 'x’, ‘=" means ‘+, ‘X’ means ‘+* and ‘+' means ‘', then answer the following
questions based on this information.

9-3+2+16x2="?

Ans X" 16
X 25
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V37
X 4.9

Question ID : 54592721035

Q.14 Find out which of the figure (a), (b), (c), (d) can be formed from the pieces given in fig. (X).

Question
Figure

&)

Ans

v &)

X 3

SRS

Question ID : 54592721046

Q.15 Choose the odd one from the given options:
Ans  of 123 65

/X 2.83,64
/X 3.79,34
/X 4.47,86

Question ID : 54592721031

Q.16 In the following questions, element (ii) is related to element (i) in a particular way. Find out
the pair of figures in which the elements are not related to each other.

Ans

X']. =X+%:S+%=

X2 |+ASC

sEssssssmmss sy

v TSCO

EEEsEEsmEEE "
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[
O

Xa|®X

Question ID : 54592721043

Q.17 Which one of the following represents Officers who are Gazzeted but not state Government
employee?

Gazzeted officer

state govt.emplovee

Ans X1-9
X 2.h
e
X oaf

Question ID : 54592721039

Q.18 In the following question, select the related letter/word/number from the given alternatives.
(182, 15,12)
Ans X" 1.(112,10,14)
W 2.(112,10,11)
/X 3.(112,10,12)
75 4.(112,10,16)

Question ID : 54592721033

Q.19 Choose the odd one from the given options:
Ans X" 1373

W 2 455
/X 3.463
/X 4.544

Question ID : 54592721030

Q.20 Which of the following diagrams best represents a relationship among Platinum, Ornament
and Gold?

Ans




www.HaryanaJobs.in

Question ID : 54592721038

Section : General Awareness1

Q.1 Which of the following statements about MSP or Minimum Support Price is incorrect?

Ans x 1. Freezing of MSP for a few years should be considered by the deciding authority.
( 2. The MSP is decided by the FCI or Food Corporation of India.
x 3. Rising MSP's have raised the maintenance cost of procuring foodgrains.

X 4. The MSPs are declared every year.

Question ID : 54592721055

Q.2 These soils develop in areas with high temperature and high rainfall. These are the result of
intense leaching due to tropical rains. Humus content of the soil is removed fast by bacteria
that thrives well in high temperature. These soils are poor in organic matter, nitrogen,
phosphate and calcium, while iron oxide and potash are in excess. Hence, these are not
suitable for cultivation. Which type of soil is this?

Ans X" 1.Red and yellow

X 2. Black
J 3. Laterite
X 4. Alluvial

Question ID : 54592721067

Q.3 The approximate length of the Great Himalayan range, also known as the central axial
range, is (i) km from east to west, and their width varies between (ii) km from
north to south.

Ans X" 1_(i) 6000km and (ii) 400 - 600km

75 2. (i) 1,500km and (ii) 200km
75 3. (i) 4000km and (ii) 300km

o 4. (i) 2,500km and (ii) 160 - 400km

Question ID : 54592721068

Q.4 Which of the following nutrients keep our skin and eyes healthy?
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Ans X" 1. Proteins

x 2. Fats

« 3. Vitamin A
x 4. Carbohydrates

Question ID : 54592721062

Q.5 Which of the following is an example of a green algae?
Ans X" 1. Laminaria

x 2. Sargassum
( 3. Chlamydomonas

x 4. Fucus

Question ID : 54592721063

Q.6 This diseases is caused by a pathogenic bacterium and affects the intestines. It can be
confirmed by Widal Test. Identify the disease.

Ans X" 1. Pneuomonia

X 2. Malaria
( 3. Typhoid

X 4. Cholera

Question ID : 54592721059

Q.7 When we account for the annual income or the annual production of a factory we are
actually calculating:

Ans x 1. Net investment of the factory
X 2. Stocks of the factory
( 3. Flows of the factory

X 4. Gross investment of the factory

[ Question ID : 54592721053

Q.8 In which year did India get its Central Bank?
Ans X" 11937

of 2.1935
/X 3.1933
75 4.1931

Question ID : 54592721054

Q.9 Lotia is the regional music of:
Ans J 1. Rajasthan

75 2. Tamil Nadu
X 3. Punjab
x 4. Assam
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l Question ID : 54592721051

Q.10 Which of the following cities is not a capital of India's neighbouring countries?
Ans x 1. Naypyitaw

x 2. Kathmandu

X 3. Thimpu

J 4. Lahore

Question ID : 54592721064

Q.11 Consider the following steps of Wastewater Treatment Plant (WWTP) - i. Impure water
goes to grit and sand removal tank, ii. Impure water is allowed to settle in a large tank, iii.
Impure water is passed through bar screens - Using the codes given below, arrange the
above steps sequentially.

Ans 1 ii, i, i
X 2. i
25300, ii
o 4iii i i

Question ID : 54592721061

Q.12 Which of the following types of cell is present in the human gastric glands?

Ans ( 1. Mucus neck cells, peptic or chief cells and parietal or oxyntic cells
X 2. Only mucus neck cells and peptic or chief cells
x 3. Only peptic or chief cells and parietal or oxyntic cells

X 4. Only mucus neck cells

Question ID : 54592721057

Q.13 Through which of the following activities does an organism maintain homeostasis by
Regulation processes?

Ans ( 1. Sweating and shivering
X 2. Formation of thick walled spores to survive unfavourable conditions
x 3. Changing body temperature with ambient nature

X 4. Temporarily moving away from stressful habitat

Question ID : 54592721058

Q.14 Which of the following pairs are Kharif crops?
Ans X" 1 Wheat and Gram

x 2. Cotton and Wheat
J 3. Rice and Cotton

x 4. Gram and Rice

Question ID : 54592721066

Q.15 (i) will help you to (ii) waste products.
Ans x 1. (i) Kabariwalas, (ii) decompose
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J 2. (i) Composting, (i) reduce
X 3. (i) Blue and Green bins, (i) reduce

x 4. (i) Rechargeable batteries, (ii) segregate

Question ID : 54592721060

Q.16 Which of the following statements is incorrect about the Parallax method?

Ans ( 1. This method can be used to measure all kinds of distances - large, small, medium
and micro.

x 2. To measure the distance of a far away planet by this method, we observe it from
two different positions (observatories).

x 3. Parallactic angle will always be very small while calculating very far off objects.

x 4. The distance between the two points of observation is called the basis.

Question ID : 54592721056

Q.17 The Census 2011 was the edition of Census in India.
Ans X" 1 13th

o 2. 15th
/5 3.14th
/5 4.16th

Question ID : 54592721065

Q.18 Which Indian classical dance can the Odhra Magadha considered as the precursor of?
Ans  of 1 Odissi

x 2. Kathakali

7% 3.Kathak

x 4. Mohiniyattam

Question ID : 54592721049

Q.19 Which of the following festivals is not one of the major festivals in Maharashtra?
Ans X" 1. GudiPadwa

o 2.Bihu

x 3. Ganesha Festival

X 4. Marabats and Badgya

Question ID : 54592721052

Q.20 A monument was built by the British at the Apollo Bunder in Mumbai and was designed by
the British architect, George Wittet. To commemorate whose visit was this monument built?

Ans X" 1 King Edward Ill
J 2. King George V
x 3. Prince Edward of Wales
75 4. Prince Phillip |

[ Question ID : 54592721050
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U J

Section : General Awareness2

Q.1 Who is the author of these books - "Why | Am A Hindu" and "An Era of Darkness"?
Ans J 1. Shashi Tharoor

x 2. Khushwant Singh
x 3. Rajdeep Sardesai
75 4. Arvind Adiga

Question ID : 54592721077 ]

Q.2 Right to Information Act provides for setting out the practical regime of right to information
for citizens to secure access to information under the control of (i) . It was passed in

(ii) )
Ans X" 1_(j) Public authorities, (i) 2001

x 2. (i) Private Authorities, (i) 2001
o 3. (i) Public authorities, (i) 2005

75 4. (i) Private authorities, (ii) 2005

Question ID : 54592721084

Q.3 Which chronicles and documents from the Mughal court is the major source for the agrarian
history of the sixteenth and early seventeenth century ?

Ans  of 1 Ain-l-Akbari
#< 2. Kitab-ul-Hind
x 3. Babur Nama

x 4. Humayunama

Question ID : 54592721075

Q.4 This brilliant Indian scientist was a plant physiologist as well as a physicist. His books
include "Response in the Living and Non-Living" (1902) and "The Nervous Mechanism of
Plants" (1926). Identify the person and identify his invention by choosing the correct option.

Ans x 1. Meghnad Saha, Short Radio Waves
J 2. Jagdish Chandra Bose, Crescograph
75 3.C. V. Raman, Raman Effect

x 4. Satyendra Nath Bose, God Particles

Question ID : 54592721080 ]

Q.5 This is a multi-country organization that has 10 member states and was formed in the year
1967. Which of the following organizations can it be?

Ans X" 1.5C0

/5 2.SAARC

75 3.APEC

o 4 ASEAN

Question ID : 54592721078 ]
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Q.6 Which of the following was a work not done by the jotedars during the eighteenth century
British administration?

Ans x 1. exercised direct control over a considerable section of poor villagers
J 2. distributing the revenue demand (jama) over villages
X 3. revolted against the zamindars many times

x 4. controlled local trade as well as moneylending to ryots

Question ID : 54592721072

Q.7 Which of the following personalities is not matched with the position they are holding?

Ans x 1. Sooronbay Jeenbekov - President of Kyrgyzstan
J 2. Mauricio Macri - Australian Prime Minister
x 3. Moon Jae-in - South Korean President

x 4. Lotay Tshering - Bhutanese Prime Minister

Question ID : 54592721076

Q.8 Which of the following comes under Right to Freedom?

Ans x 1. Prohibition of employment of children in hazardous jobs

J 2. Protection of Right to form associations/unions
x 3. Protection of language, culture of minorities

x 4. Right to move the courts to issue directions/orders/writs for enforcement of rights

Question ID : 54592721082

Q.9 “We must make our political democracy a social democracy as well.” Who had said this line?
Ans x 1. Maulana Abul Kalam Azad

x 2. Pandit Jawaharlal Nehru
J 3. B.R. Ambedkar

x 4. Dr. Rajendra Prasad

Question ID : 54592721085

Q.10 In the 2019 edition of this tournament, Rafael Nadal won the Men's Singles title and
Ashleigh Barty won the Women's Singles title. Which tournament is being described?

Ans x 1. Wimbledon
J 2. French Open
x 3. Australian Open

75 4.Us Open

Question ID : 54592721086

Q.11 Which of the following movements and their respective years are not correctly matched?
Ans x 1. Rowlatt Satyagraha - 1919

( 2. Kheda Satyagraha - 1920

x 3. Champaran Satyagraha : 1916-17
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x 4. Ahmedabad Mill Strike Satyagraha - 1918

Question ID : 54592721073

Q.12 Which Constitutional Amendment fixed the norm that the total number of Ministers,
including the Prime Minister, in the Council of Ministers shall not exceed fifteen per cent of
the total number of members of the House of the People?

Ans X" 1.85th Amendment Act
J 2.91st Amendment Act
x 3. 96th Amendment Act

x 4. 89th Amendment Act

Question ID : 54592721083

Q.13 Choose the incorrect statement about the NITI Aayog:
Ans X" 1.t was formed in the year 2015.

J 2. There are 5 ex-officio members in the NITI Aayog.
x 3. The NITI Aayog is neither a statutory body nor a constitutional body.

x 4. At the core of NITI Aayog's creation are two hubs — Team India Hub and the
Knowledge and Innovation Hub.

Question ID : 54592721079

Q.14 Choose the incorrect statement with regards to the Indus Valley Civilization:

Ans x 1. The Indus Valley seals conveyed the identity of the sender and also if the bag with
the sealing was intact

J 2. Beads were made of carnelian which were pink coloured stones obtained by firing
the yellowish raw material

X 3. The longest inscription in the Indus Valley era has about 26 symbols

x 4. The Indus Valley people used weights both in binary and decimal systems

Question ID : 54592721070

Q.15 The last edition of a multi-sport event was held in 2018 at the Gold Coast and the next
edition will be held in 2022 at Birmingham. Identify which multi-sport events is being talked
about?

Ans X" 1 World Games
J 2. Commonwealth Games
x 3. Asian Games

x 4. Diamond League

Question ID : 54592721088

Q.16 Which state topped the rankings in the Khelo India Youth Games 2019?
Ans X" 1 Delhi

x 2. Karnataka

x 3. Haryana

J 4. Maharashtra

[ Question ID : 54592721087
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|

Q.17 “What if | and all the eminent leaders in Gujarat and in the rest of the country are arrested?
This movement is based on the faith that when a whole nation is roused and on the march
no leader is necessary.” Who said this and which movement did this quote precede?

Ans x 1. Sardar Vallabbhbhai Patel, Non-Cooperation Movement
X 2. Mahatma Gandhi, Civil Disobedience Movement
J 3. Mahatma Gandhi, Dandi March

X 4. Sardar Vallabhbhai Patel, Civil Disobedience Movement

Question ID : 54592721074

Q.18 Which of the following places of the sixth century BC are presently not situated in India?
Ans x 1. Kaushambi

x 2. Rajgir
/X 3. Ujjayini
o 2. Taxila

Question ID : 54592721071

Q.19 Which of the following factors does not affect the ocean salinity directly?
Ans o 1. Coriolis Force

/X 2. Winds

x 3. Evaporation and precipitation

x 4. Fresh water flow from rivers

Question ID : 54592721069

Q.20 Sahitya Akademi has selected writers for Yuva Puraskar 2019.

Ans &1 21
K 2.20
W 323
K 422

Question ID : 54592721081

Section : Arithmetic Ability1

Q.1 Find the largest of the following fractions?

2 14 23 63 19

91621 6937

Ans 23

Ko =

(2&2

17
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x?’ 63

69

X4E

16

Question ID : 54592721092

Q.2 15 kg grapes which contain 90 percent water were kept in sunlight. In presence of sunlight,
the content of water reduces to 85 percent due to evaporation. Find the reduced weight of
grapes?

Ans  of 1 10kg
/X 2.13kg
/X 3.14kg
X 4.12kg

Question ID : 54592721103

Q3 IfA=1x2x3____ x200andB =201 x 202 x 203 x 204, then find the LCM of A and B.
Ans X" 1.201A

Wv2aA
/X 3B
/< 4.AB

Question ID : 54592721096

Q.4 The average salary of all the employees in a company is Rs.10500. The average salary of all
the male employees Rs.15000. The average salary of all the female employees is Rs.8500.
If there are 36 male employees in the company. What is the total number of employees in
the company?

Ans X" 1104
/X 2.65
/X 3.81
o 2117

Question ID : 54592721101

Q.5 HCF of (63, 84, 147) is:

Ans X' 17
X 2.23
W 3.2
K 412

Question ID : 54592721095

Q.6 DIRECTIONS: What should come in place of the question mark (?) in the following
questions?

25 percent of 84 x 25 percent of 84 = ?

Ans  of 1 441
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/X 2,424
/X 3.482
75 4. 488

Question ID : 54592721090

Q.7 What should come in place of the question mark (?) in the following question?
16 +20f[32-16 + 4 x 6+ 23 —11+3-2X 6] =2

Ans g7

v S
2.

Question ID : 54592721094

Q.8 The number 111111111111 is divisible by:
Ans X" 1 5and 11

/X 2.3and9
/X 3.9and 11
o 4.3and 11

Question ID : 54592721098

Q.9 When the sum of the digits of a number is subtracted from the number, the result will be
always divisible by:

Ans X" 1.6
W20
253,111
X 45

Question ID : 54592721097

Q.10 A shopkeeper offers a discount of K percent on a product A and (K + 15) percent on product
B. The marked price of A and B is same. If the ratio of the selling price of B to that of A is 13
: 16, then find the discount percentage of product A.

Ans x 1. 15 percent
x 2. 22 percent
J 3. 20 percent

x 4. 25 percent

Question ID : 54592721099

Q.11
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There are two numbers such that 25% of the first numberis equal to the square of the second
number. The second number is 4% % of 850. What is the difference between two numbers ?

Ans  of 1 5148

/X 2.3642
/< 3.4096
/X 4.6658

Question ID : 54592721104

Q.12 What should come in place of the question mark (?) in the following question?

26+ T=1
2 3 &

Ans 26
=
( 3
x 2 15
&

: 12
N3 =
19

' 27
74—
4

Question ID : 54592721091

Q.13 If (K+2), (K+6), (K+ 23) and (K + 33) are in proportion. Find the value of (K + 10).

Ans " 118
W22
/X 3.26
725 4.20

Question ID : 54592721108

Q.14 By selling 150 metre of cloth, | gain the selling price of 15 metre. Find the gain percent.
Ans x 1. 15 Percent

x 2.9.09 Percent
o 3.11.11 Percent

x 4.10 Percent

Question ID : 54592721105

Q.15 Five times the present age of Rukmani is equal to four times the age of Sukhmani. Five
times the age of Mahima six years ago was equal to four times the age of Sukhmani five
years ago. If the average of present age of Rukmani, Sukhmani and Mahima is 31 years.
Find the age of Rukmani three years ago?

Ans o 1 25y
K222y
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X 3.28yr
X 4.35yr

Question ID : 54592721100

Q.16 Deepak purchased a certain number of tables, with an expectation that if he sells all of the
tables at the marked price, he will get a profit of 35 percent. But during transportation, 12
percent of the tables are completely damaged and gave him no returns, 15 percent are
slightly damaged so he sells them at a discount of 20 percent. The remaining are sold at the
marked price. What is his overall profit percentage ?

Ans  off 1.14.75 Percent
X 2.12.33 Percent
x 3.16.5 Percent

X 4.15.25 Percent

Question ID : 54592721106

Q.17 DIRECTIONS: What should come in place of the question mark (?) in the following question?

(598+178)°-(598-178)° >
598x178 ‘
Ans x 1.8

24

535

1
4. =
X 2

Question ID : 54592721089

Q.18 The cost price of a trouser is (5/7)th of the cost price of a shirt. The shirt is sold at 24
percent profit and the total profit on one trouser and one shirt is 17 percent. If the profit
earned on a shirt is Rs.504. What is the selling price of trouser?

Ans X" 1. Rs.1450

o 2.Rs.1608

75 3.Rs.1520

/X 4.Rs.1716

Question ID : 54592721107

Q.19 A test consists of a total of 100 questions from three sections QA, LR and VA. All questions
carry equal marks. QA section contains 35 questions, LR section contains 35 questions and
VA section contains 30 questions. A student answered 60 percent from QA section, 40
percent from LR section and 50 percent from VA section correctly. Exactly how many more
questions should he have answered correctly to get the pass percentage of 65 percent in
the test ?

Ans X" 119
K 2.24
/K 3.20
o 415

Question ID : 54592721102
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Q.20 What should come in place of the question mark (?) in the following question?

K16 +4)x4}+4]=2

Ans J1,4
X 2.2
X 35
X 4.3

Question ID : 54592721093

Section : Arithmetic Ability2

Q.1 Find the area of a triangle whose sides are 12 cm, 16 cm and 20 cm.
Ans X" 1108 cm?

X 2.72cm?
( 3.96 cm?.

/X 4144 cm?

Question ID : 54592721122

Q.2 A wall of 36 metre long, 32 metre wide and 28 meter high is made up of 1 x 2 x 3 bricks. If a
window occupies 1/8th of the volume of the wall, find the number of bricks?

Ans X" 14605
o 24704

/X 3.4830
/X 4.4250

Question ID : 54592721121

Q.3 Walking as 2/5 of his usual speed, a man boy reaches his office 10 minute late. Find his
usual time./

Ans X" 116 minutes
x 2.12 minutes
J 3. 15 minutes
x 4. 20 minutes

Question ID : 54592721114

Q.4 The simple interest on a certain sum for 7 months at 4 percent per annum is Rs. 124 less
than the simple interest on the same sum for 15 months at 6 percent per annum. The sum
is:

Ans X" 1 Rs.2,560

75 2.Rs. 3,300

o 3.Rs. 2,400

75 4.Rs. 2,680

Question ID : 54592721112
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Q.5 A train passes a 360 metre long platform in 40 seconds and a man standing on the platform
in 16 seconds. The speed of the train is:

Ans X" 1,40 kmph
75 2.50 kmph
/5 3.38kmph
o 4. 54kmph

Question ID : 54592721116

Q.6 DIRECTIONS: Study the following graph carefully to answer the questions:

Percent Profit Earned by Two Companies Over the Years Percent profit
= (Income-Expenditure)x100/Expenditure

70

&0

3

&

(7]
[=]

Percentage Profit

20

2005 2006 2007 2008 2009 2010

—— Company A =—@—Company B

If the income of company A in the year 2006 was 6.425 lakh, what was its expenditure in
that year?

Ans X" 1. 4.5 lakh.
/X 2.52lakh.
o 3.4.43lakh.
/X 4.47lakh.

Question ID : 54592721126

Q.7 12 men can complete a work in 10 days. 25 women can complete the same work in 6 days.
In how many days 8 men and 4 women can complete the same work, working together?

Ans

v 10; days

Question ID : 54592721119

Q.8 DIRECTIONS: Study the following Graph carefully and answer the questions given below:
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MNumber of students appearing for aptitude test for various towns (in thousands)

45

40 e

s

35

25

20 -

15 -
10

A B C D E
What is the respective ratio of the number of students appearing for the Aptitude test from

Town C and D together to the number of students appearing for the Aptitude test from Town
A, D and E together?

Ans  of 10447

/X 2.20:43
/X 3.20:47
X 4.11:13

Question ID : 54592721128

Q.9 DIRECTIONS: Given below is the information about the weight, colours, and size of toy bears
in a toy shop. Refer to the table below and answer the questions that follow:

Weight (kg) Bear in stock, by size and colour
Small | Large Brown Blue White
2 3 Small = 10 12

Large 6 8 4

What is the ratio of the weight of blue bears to that of white bears?

Ans X" 1.3:4
X 2.4:3
3119
X 4.9:11

Question ID : 54592721125

Q.10 Each side of a cube is 8 units. It is cut into cubes each of side 4 unit. The total surface area
of all the smaller cubes thus obtained is :

Ans X 1. 560 square units
x 2. 456 square units
« 3. 768 square units

x 4. 372 square units

Question ID : 54592721120

Q.11 Income of Akhil and Nikhil is in the ratio 6 : 7. The ratio of their expenses is 9 : 11. If both of
them save the same amount. Find the ratio of income to expenditure of Nikhil.
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Ans X'1.4:3
W 214:11
/K3 8:5
X 45:6

Question ID : 54592721109

Q.12 Two pipes A and B can fill a cistern in 9 minutes and 6 minutes respectively. Both the pipes
are turned on simultaneously. When should the second pipe be closed, if the cistern is to be
filled in 4 minutes?

Ans X" 1.6 min
W 2.3min
/5 3.4min
75 4.2min

Question ID : 54592721117

Q.13 A company wants to share profit among managers, supervisors and clerks in the ratio 4 : 3 :
2. There are 8 managers, 12 supervisors and 20 clerks in the company. Each manager got a
share of Rs. 25000. Find the sum of the amount received by a supervisor and a clerk.

Ans X" 1. Rs.21000
75 2.Rs. 16400
/5 3.Rs. 19200

o 4.Rs. 17500

Question ID : 54592721110

Q.14 A sum of Rs.42000 is lent out in two parts in such a way that the compound interest on the
first part in two years at the rate of 12.5 percent per annum compounded annually is
Rs.6375. Find the interest on other part for two years at the rate of 6.5 percent per annum
on simple interest.

Ans X" 1 Rs.2650

o 2. Rs.2340

/5 3.Rs.2120
75 4.Rs.2700

Question ID : 54592721113

Q.15 DIRECTIONS: Study the following Pie-chart carefully to answer these questions.




www.HaryanaJobs.in

Total number of student = 8500
Percentage of student enrolled in different activities of school

Painting, 9%

How much more percent (approximately) number of students are there in dance as
compared to the number of student in football?

W 133
K 2.43
/X 3.49
75 4.29

Ans

Question ID : 54592721124

Q.16 The speed of a bike increases by 1 km/hr after every hour. If the distance travelled in the
first one hour was 40 km, the total distance travelled in 8 hours was:

75 1.382km

/X 2.342km

/< 3.356 km
o 4.348km

Ans

Question ID : 54592721115

Q.17 Study the following table and answer the questions given below:
Trade deficit 2001-2006

(All figures in Rs.crores)

Year | 2001-02 | 2002-03 | 2003-04 | 2004-05 | 2005-06
Exports | 34133 35680 34298 38258 44894
Imports| 48948 51187 47587 47544 59264

Trade Deficit = Import - Export
TD% = Trade Daficit % 100

Export

Find the total trade deficit during the entire period.

/5 1.72507
#< 2.72563
/X 3.75207
o 475063

Ans

Question ID : 54592721123
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Q.18 A certain number of men can finish a piece of work in 50 days. If however, there were 4 men
less, it would take 20 more days for the work to be finished. How many men were there
originally?

Ans X" 118
o 214
X 315
X 416

Question ID : 54592721118

Q.19 DIRECTIONS: Study the following pie-chart and answer the following questions.
Percentage wise Distribution of faculty in six different Departments

Total number of Faculties = 7200
Percentage of Faculties

Total number of Faculties = 7200 and Percentage of Faculties

Architecture, 27%

25%

208 - Medical, 19%

M 16%
Engineering, 15% e

15% +—

i I
Education, 11% Biotechnology, 12%

10% -
[ - - . - - -

0% -+ —1— ]
Engineering Medical Education Management Architecture Biotechnology

One-third of the number of faculty of Architecture department has left. What is the number
of remaining faculty in Architecture department?

Ans  of 1 1206

X 2.678
/X 3.1248
/X 4.648

Question ID : 54592721127

Q.20 The compound interest accrued on Rs. 18000 in two years is Rs. 2995.2. What will be the
simple interest accrued at the same rate of interest for the same sum for three years?

Ans  of 1 Rs 4320
75 2.Rs. 4850
75 3.Rs. 5220
75 4.Rs. 5480

Question ID : 54592721111

Section : General English1
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Q.1 Arrange the jumbled sentences to make a meaningful paragraph.

A. For Nespresso, delivering a consistently perfect cup of coffee meant creating a capsule
system for people at home.

B. Each one needed a casing that was protective, durable, and airtight enough to ensure that
the coffee inside stayed as fresh.

C. Aluminum is a material that met the challenge because it allows every capsule to be
hermetically sealed, locking in that coffee aroma.

D. Aluminum’s low density, light weight and malleability make it one of the most useful
metals in industry today.

Ans X" 1 ABDC

/< 2.CDAB
W 3.ABCD
75 4.DABC

Question ID : 54592721148

Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required .

Freshwater environments, from creeks to rivers, have more than 10,000 species of fish, we
might never get the chance to see.

Ans X" 1.we might not having
« 2. we may never get
x 3. No substitution required

X 4. We may didn't have

Question ID : 54592721135

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required .

It was the summer of 1994, and he_ was doing research on the ecology of Yellowstone Lake.

Ans X" 1. will be doing
« 2. No substitution required

x 3. was done

75 4. will do

Question ID : 54592721134

Q.4 Select the most appropriate word to fill in the blank.

Wolves are among our planet’s best-studied animals, yet
relatively mysterious.

Ans X" 1 they're
«2. their

75 3. they had

habits have remained
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X4.there

Question ID : 54592721140

Q.5 Select the most appropriate word to fill in the blank.

They've been called “rats with tails, the humble eastern gray squirrel is finally
sometime in the spotlight.

Ans X" 1 get
x 2. going to
X 3. have got

J 4. getting

Question ID : 54592721142

Q.6 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required .

The world’s largest aquarium is a little quiet this afternoon, with the changing tide limiting
visibility to less than 30 feet.

Ans X" 1. the changing tide limited
J 2. No substitution required
X 3. a changed tide limiting

x 4. the changed tide limited

Question ID : 54592721138

Q.7 Select the most appropriate word to fill in the blank.

The bottom surface of the sea ice is a thick slurry of floating ice crystals, and my descent
__ them in motion.

Ans X" 1 had set

x 2. has setting
J 3. has set
x 4. have set

Question ID : 54592721146

Q.8 The following sentence has been divided into three parts. One of them may be incorrect.
Choose the INCORRECT part from the given options. If you don’t find any error, mark ‘No
error’ as your answer.

Planetary scientists use solstices and equinoxes / to defining ‘seasons’ for / other planets
in our solar system.

Ans x 1. Planetary scientists use solstices and equinoxes

x 2. No Error

X 3. other planets in our solar system.
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( 4. to defining ‘seasons’ for

Question ID : 54592721130

Q.9 The following sentence has been divided into three parts. One of them may be incorrect.
Choose the INCORRECT part from the given options. If you don’t find any error, mark ‘No
error’ as your answer.

Creativity is contagious, / and the Your Shot photo community/ spreads it every day.
Ans « 1. No Error

x 2. Creativity is contagious
X 3. spreads it every day.

x 4. and the Your Shot photo community

Question ID : 54592721129

Q.10 Arrange the jumbled sentences to make a meaningful paragraph.
A. Self-portraits have a long history in the art world.

B. Since 2014, the United States has celebrated June 21 as National Selfie Day to honor this
distinctive style.

C. With the rise of smartphones, selfies captured by cameras rather than paint have become
increasingly popular.

D. What do you do when nobody is around to take your picture? You take a selfie.

Ans  of 1 DACB

#< 2.DCBA
/5 3.BDCA
#< 4.ABCD

Question ID : 54592721147

Q.11 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required .

Many biologists suggest that_it was time to removed the Yellowstone grizzly bear from the
list of threatened species.

Ans « 1. it is time to remove
x 2. No substitution required
X 3. it was time to remove

x 4. it was remove

Question ID : 54592721136

Q.12 The following sentence has been divided into three parts. One of them may be incorrect.
Choose the INCORRECT part from the given options. If you don’t find any error, mark ‘No
error’ as your answer.

Each year the squirrels hoard seeds and nuts / in various places, using their excellent /
sense in smell to locate the food.

Ans ( 1. sense in smell to locate the food.

x 2. in various places, using their excellent
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x 3. Each year the squirrels hoard seeds and nuts

X 4. No Error

Question ID : 54592721133

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required .

Researchers have found that wolves is far more flexible then most people had realized.

Ans X" 1.is much flexible to
x 2. is more flexible then
J 3. are far more flexible than

x 4. No substitution required

Question ID : 54592721137

Q.14 Select the most appropriate word to fill in the blank.

The glaciers in the Himalaya are much less studied than Greenland’s
the most dangerous regions.

Ans J 1. because

x 2. alike

X 3. however

x 4. yet

it is amongst

Question ID : 54592721145

Q.15 The following sentence has been divided into three parts. One of them may be incorrect.
Choose the INCORRECT part from the given options. If you don’t find any error, mark ‘No
error’ as your answer.

In case the ability to glide between / trees isn’t cool enough, under ultraviolet light, / flying
squirrels fur glows pink.

Ans X 1. In case the ability to glide between
x 2. trees isn't cool enough, under ultraviolet light

J 3. flying squirrels fur glows pink.

X 4. No Error

Question ID : 54592721131

Q.16 Select the most appropriate word to fill in the blank.

the number of fish decline, there will be fewer opportunities to go fishing in the
lake.

Ans X" 1 Because

o 2 As

x 3. Although
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75 4. Yet

Question ID : 54592721139

Q.17 The following sentence has been divided into three parts. One of them may be incorrect.
Choose the INCORRECT part from the given options. If you don’t find any error, mark ‘No
error’ as your answer.

On a trip to the forests of southern India, / | was stunning to see massive / rodents leaping
treetop to treetop.

Ans x 1. rodents leaping from treetop to treetop.

x 2. 0n a trip to the forests of southern India,

x 3. No Error

( 4. | was stunning to see massive

Question ID : 54592721132

Q.18 Select the most appropriate word to fill in the blank.

It's hard to believe that the red wolves and gray wolves are still
thought to be extinct.

Ans X' 1 being
o 2. around
75 3. thrive
75 4.upon

: as they were

Question ID : 54592721141

Q.19 Select the most appropriate word to fill in the blank.

Aluminum’s low density, light weight and malleability
industry today.

it one of the most useful metals

Ans ( 1. make, in

X 2. make, into

x 3. makes, in

X 4. makes, of

Question ID : 54592721144

Q.20 Select the most appropriate word to fill in the blank.

In November 2018, regional authorities opened an investigation
of marine mammals.

the illegal capture

Ans X 1.in
o 2. into
75 3.of
X 410
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Question ID : 54592721143

Section : General English2

Q.1 Select the meaning of the given idiom.

Spill the beans

Ans « 1. To reveal a secret
x 2. Lacking in support
x 3. Waste money
x 4.To beidle

Question ID : 54592721159

Q.2 Select the most appropriate synonym of the given word.

Mansion

Ans X" 1. pomicile

« 2. A large impressive house
x 3. Plantation

X 4. Fortress

Question ID : 54592721152

Q.3 Select the wrongly spelt word.
Ans X" 1 Obstacle

x 2. Innocence

x 3. Extension

( 4. Apperence

Question ID : 54592721157

Q.4 Select the word which means the same as the group of words given.

A child born after the death of its father

Ans ( 1. Posthumous

x 2. Theist

x 3. Notorious
x 4. Pedestrian

Question ID : 54592721163

Q.5 Select the wrongly spelt word.
Ans « 1. Hygeine

x 2. lllustrate




x 3. Arousing

x 4. Gymnasium
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Question ID : 54592721156

To have a sweet tooth

Ans x 1. Lacking courage
“ 2. Preference for sugary foods

X 3. To be insincere

Q.6 Select the meaning of the given idiom.

x 4. To experience pain while eating

Question ID : 54592721158

The stained glass windows behind the

Genetic screening has the potential to

Ans X 1. alter, altar

( 2. altar, alter

x 3. alter, alter

x 4. altar, altar

Q.7 Select the correct pair of homophones to fill in the blanks.

in Glenn Church are in need of repair.

the genetic composition of the population.

Question ID : 54592721154

Q.8 Select the meaning of the given idiom.

Call it a day
Ans X" 1. Take a chance

x 2. Be unfair

J 3. To stop working

x 4. To postpone

Question ID : 54592721160

Mischievous

Ans X" 1. Irksome
x 2. Tricky
/5 3. Playful

( 4. Obedient

Q.9 Select the most appropriate antonym of the given word.

Question ID : 54592721151

Resistance

Q.10 Select the most appropriate synonym of the given word.
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Ans X 1. Comparison

J 2. Refusal
X 3. Merit

x 4. Circumstance

Question ID : 54592721150

Q.11 Select the word which means the same as the group of words given.

Impossible to satisfy

Ans X" 1. Vulnerable

X 2. Potable
J 3. Insatiable

X 4. Opaque

Question ID : 54592721161

Q.12 Arrange the jumbled sentences to make a meaningful paragraph.

A. Yuri Gagarin, Alan Shepard, and Neil Armstrong - the first wave of space travelers—were
trained astronauts thought to have the “right stuff” for risky missions.

B. But early spaceflight wasn't the exclusive province of men - or even humans.

C. More than three years before Gagarin became the first human in space, the soviets sent
up a stray dog.

D. Fruit flies, monkeys, mice, dogs, rabbits, and rats flew into space before humans.

Ans  of 1 ABDC

/< 2. ADBC
75 3.ADCB
75 4. ABCD

Question ID : 54592721149

Q.13 Select the wrongly spelt word.
Ans X 1. Endeavour

x 2. Competition

( 3. Elimnate

x 4. Absence

Question ID : 54592721155

Q.14 Select the word which means the same as the group of words given.

A person or thing living or existing at the same time as another.

Ans X" 1 Cynic

X 2. Predator
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X 3. Fanatic

« 4. Contemporary

Question ID : 54592721162

Q.15 Select the most appropriate antonym of the given word.

Harmony

Ans X 1. Ecstasy
/5 2. Rapport
75 3.Kinship
o 4. Discord

Question ID : 54592721153

Comprehension:
Read the given passage and answer the questions that follow.

Technology has impacted almost every aspect of life today, and education is no exception. Or
is it? In some ways, education seems much the same as it has been for many years. A 14th
century illustration by Laurentius de Voltolina depicts a university lecture in medieval Italy. The
scene is easily recognizable because of its parallels to the modern day. The teacher lectures
from a podium at the front of the room while the students sit in rows and listen. Some of the
students have books open in front of them and appear to be following along. A few look
bored. Some are talking to their neighbours. One appears to be sleeping. Classrooms today
do not look much different, though you might find modern students looking at their laptops,
tablets, or smart phones instead of books (though probably open to Facebook). A cynic would
say that technology has done nothing to change education.

However, in many ways, technology has profoundly changed education. For one, technology
has greatly expanded access to education. In medieval times, books were rare and only an
elite few had access to educational opportunities. Individuals had to travel to centres of
learning to get an education. Today, massive amounts of information (books, audio, images,
videos) are available at one’s fingertips through the Internet, and opportunities for formal
learning are available online worldwide through the Khan Academy, MOOCs, podcasts,
traditional online degree programs, and more. Access to learning opportunities today is
unprecedented in scope thanks to technology.

Opportunities for communication and collaboration have also been expanded by technology.
Traditionally, classrooms have been relatively isolated, and collaboration has been limited to
other students in the same classroom or building. Today, technology enables forms of
communication and collaboration undreamt of in the past. Students in a classroom in the
rural U.S., for example, can learn about the Arctic by following the expedition of a team of
scientists in the region, read scientists’ blog posting, view photos, e-mail questions to the
scientists, and even talk live with the scientists via a videoconference. Students can share
what they are learning with students in other classrooms in other states who are tracking the
same expedition. Students can collaborate on group projects using technology-based tools
such as wikis and Google docs. The walls of the classrooms are no longer a barrier as
technology enables new ways of learning, communicating, and working collaboratively.

SubQuestion No : 16
Q.16 Why does the author state that the walls of the classroom are no longer a barrier?

Ans x 1. Students now take more responsibility for their own learning.

X 2. Schools and universities across the country are beginning to redesign learning
spaces to enable a new model of education.
X 3. Technology has changed the roles of teachers and learners.

« 4. As technology has enabled new ways of learning, communicating, and working
collaboratively.
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l Question ID : 54592721169

Comprehension:

Read the given passage and answer the questions that follow.

Technology has impacted almost every aspect of life today, and education is no exception. Or
is it? In some ways, education seems much the same as it has been for many years. A 14th
century illustration by Laurentius de Voltolina depicts a university lecture in medieval Italy. The
scene is easily recognizable because of its parallels to the modern day. The teacher lectures
from a podium at the front of the room while the students sit in rows and listen. Some of the
students have books open in front of them and appear to be following along. A few look
bored. Some are talking to their neighbours. One appears to be sleeping. Classrooms today
do not look much different, though you might find modern students looking at their laptops,
tablets, or smart phones instead of books (though probably open to Facebook). A cynic would
say that technology has done nothing to change education.

However, in many ways, technology has profoundly changed education. For one, technology
has greatly expanded access to education. In medieval times, books were rare and only an
elite few had access to educational opportunities. Individuals had to travel to centres of
learning to get an education. Today, massive amounts of information (books, audio, images,
videos) are available at one’s fingertips through the Internet, and opportunities for formal
learning are available online worldwide through the Khan Academy, MOOCs, podcasts,
traditional online degree programs, and more. Access to learning opportunities today is
unprecedented in scope thanks to technology.

Opportunities for communication and collaboration have also been expanded by technology.
Traditionally, classrooms have been relatively isolated, and collaboration has been limited to
other students in the same classroom or building. Today, technology enables forms of
communication and collaboration undreamt of in the past. Students in a classroom in the
rural U.S., for example, can learn about the Arctic by following the expedition of a team of
scientists in the region, read scientists’ blog posting, view photos, e-mail questions to the
scientists, and even talk live with the scientists via a videoconference. Students can share
what they are learning with students in other classrooms in other states who are tracking the
same expedition. Students can collaborate on group projects using technology-based tools
such as wikis and Google docs. The walls of the classrooms are no longer a barrier as
technology enables new ways of learning, communicating, and working collaboratively.

SubQuestion No : 17

Q.17 From among the given options, choose the option that is most similar in meaning to the
word ‘isolated’ as used in the 3rd paragraph 2nd line of the passage:

Ans X" 1. Unattended
x 2. Substituted
( 3. Detached
x 4. Cherished

Question ID : 54592721168

Comprehension:
Read the given passage and answer the questions that follow.

Technology has impacted almost every aspect of life today, and education is no exception. Or
is it? In some ways, education seems much the same as it has been for many years. A 14th
century illustration by Laurentius de Voltolina depicts a university lecture in medieval Italy. The
scene is easily recognizable because of its parallels to the modern day. The teacher lectures
from a podium at the front of the room while the students sit in rows and listen. Some of the
students have books open in front of them and appear to be following along. A few look
bored. Some are talking to their neighbours. One appears to be sleeping. Classrooms today
do not look much different, though you might find modern students looking at their laptops,
tablets, or smart phones instead of books (though probably open to Facebook). A cynic would
say that technology has done nothing to change education.

However, in many ways, technology has profoundly changed education. For one, technology
has greatly expanded access to education. In medieval times, books were rare and only an
elite few had access to educational opportunities. Individuals had to travel to centres of
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learning to get an education. Today, massive amounts of information (books, audio, images,
videos) are available at one’s fingertips through the Internet, and opportunities for formal
learning are available online worldwide through the Khan Academy, MOOCs, podcasts,
traditional online degree programs, and more. Access to learning opportunities today is
unprecedented in scope thanks to technology.

Opportunities for communication and collaboration have also been expanded by technology.
Traditionally, classrooms have been relatively isolated, and collaboration has been limited to
other students in the same classroom or building. Today, technology enables forms of
communication and collaboration undreamt of in the past. Students in a classroom in the
rural U.S., for example, can learn about the Arctic by following the expedition of a team of
scientists in the region, read scientists’ blog posting, view photos, e-mail questions to the
scientists, and even talk live with the scientists via a videoconference. Students can share
what they are learning with students in other classrooms in other states who are tracking the
same expedition. Students can collaborate on group projects using technology-based tools
such as wikis and Google docs. The walls of the classrooms are no longer a barrier as
technology enables new ways of learning, communicating, and working collaboratively.

SubQuestion No : 18

Q.18 According to the author, a cynic would say that technology has done nothing to change
education because:

Ans x 1. The teaching fraternity doesn't welcome any changes in the education sector.
x 2. The classrooms today do not have any similarity with the classrooms in the past.

x 3. The classrooms today do not have any similarity with the classrooms in the past and
The teaching fraternity doesn’'t welcome any changes in the education sector.

\_f 4. Classrooms today do not look much different from the way they were in the past.

Question ID : 54592721166

Comprehension:

Read the given passage and answer the questions that follow.

Technology has impacted almost every aspect of life today, and education is no exception. Or
is it? In some ways, education seems much the same as it has been for many years. A 14th
century illustration by Laurentius de Voltolina depicts a university lecture in medieval Italy. The
scene is easily recognizable because of its parallels to the modern day. The teacher lectures
from a podium at the front of the room while the students sit in rows and listen. Some of the
students have books open in front of them and appear to be following along. A few look
bored. Some are talking to their neighbours. One appears to be sleeping. Classrooms today
do not look much different, though you might find modern students looking at their laptops,
tablets, or smart phones instead of books (though probably open to Facebook). A cynic would
say that technology has done nothing to change education.

However, in many ways, technology has profoundly changed education. For one, technology
has greatly expanded access to education. In medieval times, books were rare and only an
elite few had access to educational opportunities. Individuals had to travel to centres of
learning to get an education. Today, massive amounts of information (books, audio, images,
videos) are available at one’s fingertips through the Internet, and opportunities for formal
learning are available online worldwide through the Khan Academy, MOOCs, podcasts,
traditional online degree programs, and more. Access to learning opportunities today is
unprecedented in scope thanks to technology.

Opportunities for communication and collaboration have also been expanded by technology.
Traditionally, classrooms have been relatively isolated, and collaboration has been limited to
other students in the same classroom or building. Today, technology enables forms of
communication and collaboration undreamt of in the past. Students in a classroom in the
rural U.S., for example, can learn about the Arctic by following the expedition of a team of
scientists in the region, read scientists’ blog posting, view photos, e-mail questions to the
scientists, and even talk live with the scientists via a videoconference. Students can share
what they are learning with students in other classrooms in other states who are tracking the
same expedition. Students can collaborate on group projects using technology-based tools
such as wikis and Google docs. The walls of the classrooms are no longer a barrier as
technology enables new ways of learning, communicating, and working collaboratively.




www.HaryanaJobs.in

SubQuestion No : 19
Q.19 Which of the following statements is not true in the context of the passage?
Ans x 1. Access to learning opportunities has increased.
( 2. In medieval times too, many had access to educational opportunities.
x 3. Technology has expanded access to education.

x 4. Massive amounts of information is available to individuals at their fingertips.

Question ID : 54592721167

Comprehension:
Read the given passage and answer the questions that follow.

Technology has impacted almost every aspect of life today, and education is no exception. Or
is it? In some ways, education seems much the same as it has been for many years. A 14th
century illustration by Laurentius de Voltolina depicts a university lecture in medieval Italy. The
scene is easily recognizable because of its parallels to the modern day. The teacher lectures
from a podium at the front of the room while the students sit in rows and listen. Some of the
students have books open in front of them and appear to be following along. A few look
bored. Some are talking to their neighbours. One appears to be sleeping. Classrooms today
do not look much different, though you might find modern students looking at their laptops,
tablets, or smart phones instead of books (though probably open to Facebook). A cynic would
say that technology has done nothing to change education.

However, in many ways, technology has profoundly changed education. For one, technology
has greatly expanded access to education. In medieval times, books were rare and only an
elite few had access to educational opportunities. Individuals had to travel to centres of
learning to get an education. Today, massive amounts of information (books, audio, images,
videos) are available at one’s fingertips through the Internet, and opportunities for formal
learning are available online worldwide through the Khan Academy, MOOCs, podcasts,
traditional online degree programs, and more. Access to learning opportunities today is
unprecedented in scope thanks to technology.

Opportunities for communication and collaboration have also been expanded by technology.
Traditionally, classrooms have been relatively isolated, and collaboration has been limited to
other students in the same classroom or building. Today, technology enables forms of
communication and collaboration undreamt of in the past. Students in a classroom in the
rural U.S., for example, can learn about the Arctic by following the expedition of a team of
scientists in the region, read scientists’ blog posting, view photos, e-mail questions to the
scientists, and even talk live with the scientists via a videoconference. Students can share
what they are learning with students in other classrooms in other states who are tracking the
same expedition. Students can collaborate on group projects using technology-based tools
such as wikis and Google docs. The walls of the classrooms are no longer a barrier as
technology enables new ways of learning, communicating, and working collaboratively.

SubQuestion No : 20
Q.20 The given passage attempts to answer one of the following questions:

Ans x 1. Is the education sector technologically dependent?
x 2. Is technological changes a threat to education?
K 3. Is technology needed in the domain of education?

( 4. How has technology changed education?

Question ID : 54592721165
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Question ID : 54592721185

Q.2
Ans
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Question ID : 54592721184
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Question ID : 54592721176

Q.4
Ans
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Question ID : 54592721173
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Ans
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Question ID : 54592721172
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l Question ID : 54592721178
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Question ID : 54592721170
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Question ID : 54592721183
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Question ID : 54592721171

Q.10 fawigy o1 yafaar ores 8-
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Question ID : 54592721175
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Question ID : 54592721189
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Question ID : 54592721186
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Question ID : 54592721180
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Question ID : 54592721179

Q.15 ‘gufa<® w1er &l &t T STt 81
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Question ID : 54592721188

Q.16 F=faf@s sre-gm & T@l sref-9ig o1 =g+ fifSig-
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Question ID : 54592721181

Q.17 arer & 21 o1 Wiy R giar 87
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Question ID : 54592721187
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Question ID : 54592721174

Q.19 A= arergier & fAQ U 21 19U RfSig-
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Question ID : 54592721177
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Question ID : 54592721182

Section : General Hindi2
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Question ID : 54592721199
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Question ID : 54592721204
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Question ID : 54592721194
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Question ID : 54592721202
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Question ID : 54592721196
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Question ID : 54592721203

Q.8
Ans

STq &) Tyed fRaTd ges a1 wge gl |t shi=-ar Rieg s siar 82
X 1. usaTe
/X 2. sreufRm
o 3.

75 4 gdfrm

Question ID : 54592721201

Q.9
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Question ID : 54592721192
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Question ID : 54592721191
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Question ID : 54592721193
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Question ID : 54592721190
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Question ID : 54592721197
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Question ID : 54592721200
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Question ID : 54592721198

Comprehension:

fdar: A A T erufed merier ol ufey 3k UL & Ik dfSiul

HfA & T F Jg U STERT: T Udltd gidT & o i upfa a1 gRifed gtar 81 o R qRifga sro
foram ufcharett o1 Feg g1 I1feQ | 39eh fomT fdr &t ‘rfar <t T & faogfdra e oft e uefta 8
giar S & sroet e Fréeror afes gRT epfr & wiTor & O el g garelf a3 e 8, STt ar
cafhal i gt gl ST, ofik o St oft  t aca ae T8t ugTdt| a8 ok uge fom g Ot ara &
fReherdl), STt GTeRoT g1 WR oft srameRor 8, wfifehes g1 WR oft, srefifehen s<icuteeh g, gadht 3 g3
IR oft, T THRR @™ areht g, Uepfa & T Ud Hort W@t ot GdareReT & gfeuY & o1 hfd &
S &1 ST Y HIHIGT B T, STTRIT-HYHT Al I AT TT SATRIA o IR JISHAT hid el hid gl g
g S1RifIh o 1 §, Thid a1 o S99 ot 718 8| SaTeuT T fUvTer & AT aR ot dl Tdt-gett uer
T o1 A1 oft i 7 8, S foh Ura: s SITaT 198H g O Ughfa wideror S srarerRur A1k &
- hfd & U SIAATIHT T & BV g AN JAT I fAfder dretmat gd e et of F1dT g1
iRy

SubQuestion No : 16
Q.16 a12ffes o1 igza o &:

Ans X 1. 3a i shwier
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X 4. i wife Tt

Question ID : 54592721209

Comprehension:

fer: 9 D T erufda merier ot ufey ofk Uk & SR EifSiTl

Hid & Ty H g HY AR TG UdId g1 & o i uepfal o QRifed g &1 19 warR qRifga o=
T uforamatt ot wrefa g =nfRg | 3udh fom i ol ‘erfdy <t T & frgfa e oft 3fra uefta =&t
giar S & sroet e Freror afts gRT uepfr & wior & O el g Tl &t 3 a8, St ani
cafal i g g ST, ofik afe St oft @ t aca ao T8t ugadt| a8 ak uge fom g Ot aa &
fRreretdt, STt TreRoT g1 WR oft SraremRToT 8, wfifehes 811 R oft, srefifehen emmaicatedh gl, Tadh! 3t g
IR oft, T THERR @™ areht g, Uepla & T U et ! ot GaaTeReT & gfeuYy § o1 hfd &
I &1 S T HIHGT P T, SATRIN-HGHT Al T AT TT SHATRIA o IR JISHAT hid el ShiF Tgi gl
g aifeh &l S g, Y 1 o 389 ot 7187 8| SaTenvuT Td el o faeTgaR quit &l Fdi-geft uer
T o1 A1 oft i 78 8, ST foh UTa: TS SITaT 8 198H 3T O Ui mideTor S SraTerRer A1tk &
-1 i & U ST ST A& IV gHT ANGY JAT I e Shetratt ga e et off F1dT g7
Bl

SubQuestion No : 17
Q.17 ‘&fa’ g asft greferar ur g & sa =fa:

Ans X 1. 37gd cheuTT- <1<k oh URerd 2T 8
X 2. ansifies i o ek wd At gf® wE@ar &
o 3. TR &) T & e @ srad awia
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K 4. SeRIggH & it g aar &

Question ID : 54592721208

Comprehension:

fRder: i oA T srufea merir oY ufey ek usT & SR EfSTI

FT & Y F Tg HYF SR T Uelid gidT & foh ehfd Ui T Rifed g1 &1 o UeR gifed oo
TR uiforamatt ot wef g1T afR Q| 3Tch fomT i ol ‘spfar <t T & frogfra e oft S wefta et
Biar| i & eroeht gem Mdteror sfts gRT uepfal & wivror & QR qenit ue weref &t g Aar @, sigt g
cafhal &l gf® =gl S, ofik afe st off & dt deg e =1t ugdt| a8 deh uga faeT g el arel e
reherel), ST GTYRUT 811 TR ot SrEmaRIoT g, efifehes 811 WR oft, arefifehen si=<icureen g, qadh! 3 g
R Y, T THERR fea™ arell 8, Ui & T d Jod 3w ahl HeATeRUT & gRTY | AT hid o
1 & | 312 T HHIT P TG, ATRI-HYHAT Gl GIE AT AT SR & IR TS hid T 1 el 8l
Tg anffAeh ol A &, S 1 o 389 ot 718 1 careRvon e fiirer & faergaR quit i Aui-geft uer
T ot A1 oft Rfa 7 8, S ok uma: TwE Srar 1geH g @ uehfa wideror it srarerror i &
HTY-TTY i & U SfaATgal T 378/ Iy g1 91feq Ju1 3¢ fAfde sharaii ga e o oft I gi-m
Bl

SubQuestion No : 18
Q.18 IR TTexial ol Haitdh Suded 2fite gt dehar &:

Ans " 1 afear
K 2w
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Question ID : 54592721206

Comprehension:

f&er: i oA T erufea merier ot ufey ofk usT & SeaR ST

FI F TEY H Tg HYF SR I Uelid gidT ¢ foh hid Ui I GRIfed 8T &1 o TR qRifgd 1ot
foram ufchamatt o1 FE g1 I1feQ | g9eh fomT fdr ot ‘srfar <t T & faogfdra e oft 3o uefta &
BT hfd 8 31Ut Yer Fteror 21k GRT Ui o UivTor # O¥ q2at Ud ugref &l 3@ oidT &, STel 9
iRt i gt et S, ofk af STt oft 2 ot I e €t ugah| I8 ak ugd T i Oh ara A
fAreherdl), STt GTeRoT g9 WR oft srameRior 8, fifehes g7 WR oft, srefifehen s<icuteeh g, gardht 3&dt g4
R Y, T THERR feza arell 8, Uil & T Gd Hod 38| hl HATeRYT & §IRTY H AT hid o
T | 312 T HHIT Pt TG, HATRIN-GHGHA] Sl GIE AT AT TR & IR d1ST hid T 1 o1 8
g S1RifR o 1 8, hfd o1 o 59 ot T8 8| SaTeRuT T fUiTet o AT aR ot i Tit-geft Ter
T T A o I 81 8, ST foh U THS SIaT & 198H GfY § Uepfd Uideror i Sremerur 21fh &
Y91 i & U SfeAgal a1 378/ Y g1 91feq JuT 3¢ fafde sramsii ga smet o oft Fram giem
Bl

SubQuestion No : 19
Q.19 =fA =} wepfar 1 qRYUT gt 7T & it ag wipfae:
Ans X" 1. wfieed o R g @
W 2 =@ afmea?
X 3. wreRreHt @ s g @

75 4. e & s gt @

Question ID : 54592721210

Comprehension:

fdar: - A T erufea merier &l ufey 8k UL & Ik Syl
HfA & T F Ig Y STERT. T Udlld il & foh afa uepfa a1 qRifed gtar 81 o ver qRifga sro
foram ufcharett o1 7g g1 I1feQ | 3¥eh fomT fdr &t ‘rfar <t T & faogfira e oft e uefta 8
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giaT| wfa gt eruit gew Fdteror 1 gRT Ul & wivToT # O el ud et @l 3w A 8, et e
cafhal dr gt gl ST, ofik afe St oft @ t aa aen T8t ugadt| a8 dok uge fom g Ot ara &
Fenerclt, ST TTeRT 817 TR ff SIATURTOT Y, #fifeheh g1 IR +ft, sreiifchen ST-acaTaeh of, Tadh! &t 8
R oft, 7 THeRR o™ areft 8, Ul & T Td qad W ol TdaTeReT & gfRu § S hfd
T &1 ST ! HIHIGT B T, STRIN-HGHT Al I AT TT SHATRIA & IR FISHAT hid ol hiH el gl
Ig anffen & S , A o1 o 389 oft 7187 8| caTenvuT e et o faeTgaR uit dr Adi-geft uer
T o1 A1 oft i 78 8, S foh Ura: s SITaT 8 198H g 9 Ui wideTor S SraTerReT A1k &
-1 hfd & U SIAATZHT T & IV gHT ANEY JUT I e chetratt g e et ofF 1T g1
Bl

SubQuestion No : 20

Q.20 IuUeH Terian & FTHR e gfE & uepfar weldaror i srarenRor 2Afeh & WIY-H1Y HfY F U
g =fgg?

Ans

X 1. 3R Rife wherail gd et a1 off @ g =R

75 2. zffres g iRy

7% 3. Shomrgere o s1er iy g =Ryl

of 4. Shargere @ srer et g IRy ok 3§ Rfde wherai we et at off S g =Ryl

Question ID : 54592721207






